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Instructions : Question No. 1 is objective type question. It has Part (A) and

Part (B). There are 5 questions i each Part and 1 mark is allotted for
each question,
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Question Nos. 2 to 9 are very short answer type questions. Each

question carrics 2 marks. (Maximum word limit of answer is 30
words)
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Question Nos. 10 to 15 are short answer type questions. Each question
carries 3 marks. (Maximum word limit of answer is 50 words)
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Question Nos. 16 to 21 are short answer type questions. Each question

has an internal choice. Each question carries 4 marks. (Maximum
word limit of answer is 75 words)
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Question Nos. 22 to 25 are long answer type questions. Each question

has an internal choice. Each question carries 5 marks. (Maximum
word limit of answer is 150 words)
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Question Nos. 26 and 27 are long answer type questions. Each question

has an internal choice. Each question carries 6 marks. (Maximum
word limit of answer is 250 words)
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(Part-A) Choose and write the co_rrqfét‘ﬂbtion :
Gy = ke 3 wn s wR
(37 fafeme wdf 5 (9 W W
() FHal & wr A e e
In Micro-economics, we study of :
(@) Special firms (b) National Production
(¢) Level of prices (d) All of the above
(i) |-G = 9eR g
(37 T (7) i
(%) W - (3) ITigE
A market of Gold and Silver is :
(a) Local (b)Y State
(c) National (d) International
(i) 9% ufem a1 ©H S 91 Wiewr W Y efvedi =1 sraa w3
Te U JEH FIAT S -
(37) GEPHI oF (%) =i S
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A persbn or firm who accepts deposit, performs business of
Hundi and gives loan is :

(a) Co-operative Bank (b) Commercial Bank

(¢) Indigenous Bank (d) Reserve Bank
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(a) 1971 H () 1972

(@=1973 H (g) 1974

‘Steel Authority of India’ was established in :

fa) 1971 (k) 1972

(c) 1973 (d) 1974
(v) i frafe =@ faws 1 FTA @ :

( 31y Savirern ed TR

(@) R fews

(g wreie fdis
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__Cost of Living Index number is also called :

() Simple Index nmﬁber
(¢) Weighed Index number

(&) Industrial Production Inde;‘{ number
wyT-1  (@ve-a) i v w1 gfd Fifag - [1x5=5]
(Part-B) Fill in the blanks :

() TEfE refared —— F AR ¥ g Far R

Macro-economics studies ahout .

(¢) HIER ST - FENT 1 ITE
Furniture making is example of industry.
(iif) ' YIRa 1 FeAI I9F F2R Iam A Ffega 1" T8 FE —Fi B
“Welfare of India depends on its Small-Scale Industry.” This
statement is of .
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Jawahar Gram Samridhi Yojna has becn started from _
: . 2]
W W sy ) g Q) Tdrwand fafEe |
Writc any two characteristics of Macro-economnics. |
e ? 2]
TA-3 OISR A A {7
What is Duopoly? _
[2]
Wyt-4 R i it i)
Give the definition of"Money.
-5 ST T R e € 2 (2]
What is Quasi-Rent? |
uyT-6 U H gy S 1 | 1)
' Give the definition!of Public Finance.
-7 Y AT o Wi RS ses ¥ 2 ' [2]
What is National Income Accounting System?
WT-8 W uggl dfawmd? 2]
What is Simple Aggregating Method? 2 |
W9~  WRG H &1 SEger ¥ € R fafiag 21
Write two reasons of Regional imbalance in India.
TA-30  AE sreforA =t i dend fafag | | 13]
Write three limitations of Micro-economics. :
=11 grfors THT TS Wihfoe g1 A SR Ty i | (9 7 [3]'
Differentiate between Standard coin and Token coin. (any three)
¥-12 ﬁfwmamzﬁﬁ‘m@aﬁfm%aﬁs‘mmﬁf@m . 3]

Explain any three causes of wage differences in different occupations.
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Write main characteristics of Tax. (any three)

mﬁ@ﬂmmﬁﬁ%ﬁéﬁhwﬁa‘f@m

Write any three factors of low growth of National Income in In

15 et TR A o R 2 g 2 ferdrnd e

W .
What is J awahar Rojgar Yojna? Write its two characteristics.
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Explain any four types of Rent.
3ear/OR
i SRl % i =R AArE fAfEu
 Write any four criticisms of Marginal Productivity Theory.
A qﬁqﬁﬁﬁm@ﬁﬁwﬁmqﬁﬁﬁmﬁﬁﬂﬂ Sie WE i

Write any four differences. between Perfect Competition and

37e[a1/ OR

| w@ﬁquﬂﬁaﬁéw F T Hite)
Writejiqy four differences between Market price and Normal Price.

™
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Write any four measures of checking Deflation.

. | arerat/ OR
WA 1 TEIER & g =X F ferae )

Write any four causes of Inflation in India.

w3y P ¥ e ) WA | (FE )

Explain the importances of Index Number. (any four)

379aT/ OR
Yahieh % Fmfor it 9K e ol fatag |

Write four major difficulties in construction of Index Number
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Write any four problems of Sugar In
e - eJERD' ct lllar(ld Indirect Taxes. (any four)
ire
Write differences between
arerat/ OR .
e HIHID fergTd et il farad ! (= =)
aﬂo e e Maximum Social Advantage.
Write practical problems of theory of Maxim
(any four)
wyg-2s  FrefeET geamedl ¥ omur W e TEA SR Td e HE] 3G i
TTorET ST - . N
ﬁ@w (THATH)
(i) iﬁ,aihm‘ﬁﬁaﬁ 1 IAEA | 3500
(iif) Ut & i el SR - 1,500
(tv) Fraffoa aegstl o Sl = e - 1,000
(v) S gl T el w1 e o

Calculate the Gross National Product (GNP) and Gross Domestic

Product (GDP) on the basis of the following data :

Items ' (X in Crore)
(i) Production of Consumer’s goods - 5,000
(ii) Production of Capital goods - 3,500
(éi) Production of Consumer’s services and

Capital services - 1,500
(iv) Price of Export of goods and services - 1,000
(v) Price of Import of goods and services - 800

CGboardonline.com 379741/ OR
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e ) 30,000

() o A TG _ 5,000
(i) = ) 3,000
(i) TR 3 2,000
(iv) TEAR 40,000

(v) o

| | ‘

Income Calculation method :

Items (% in Crore)
c

() Salary and wages - 30,000

(if) Interest - 5,000

(ii) Rent - 3,000

(iv) Depreciation - 2,000.

2 = - . - — JUD{) |
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Explain any five difficulties faced in calculating National Income of India.

UF/OR '
a@a@ﬁﬁmmﬁm%ﬁaﬁw*&?wml (P aie)

How is the Final expenditure in Economy calculated? Explain. (any five)

T4~ =T R A P e T e o (5]

Explain the factors aﬁect&ng the Rate of interest.
Tear/OR

TR T& 3T8e ogl) & sy ffia

Write the differences between Cash and Real wages.

“Hwaﬁgﬁ%ﬁwﬁma@am%ww@..

“Money is the pivot, around which the Ecoriomics clusters.”

W¥-25

Explain.
HYFT/OR
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Why is Rescrve Bank called Govcrﬁmcnt banker, representative and

advisor?

w26 | T ¥ W @ e g A (6]
Explain any six importances of Public Finance.

37 aT/OR
AT T & ﬁé B: g9 ‘r“aﬁgq |

Write any six de;nents of Indirect Tax.

W—r?/ eIl % sy fagia w1 et wied SEERT | (6]

|
Explain Modemn theory. of wages with the help of diagram.

37erar/OR

Rerret & o fagia # afereht T T@Tﬁﬂ EWY Wlm 1
. Explain the, Ricardo’s theory of Refit' with the help of-jablei and
diagram.



